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fA: MELDHSHHE
2 Lo=XE
el so=X EA (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
< 9,600
04 JI2ZtHZ22 a2+ 19,200 0 19,200
Okogie Mg 24 19,200
= 9,600
< 9,600
201 £B-2%H| 13,000 13,000 0
01 At 22l 13,000 13,000 0
OAMEI=EXIAIE 22l X & 3,000
ORLYESA XE 1,500
OSELU=EXNZEAMOE KRAE=HI 8,500
203 22X T Y| 41,950 40,850 1,100
03 AIMZ=XH S =AY 41,950 40,850 1,100
OMs4&tndst H2FH 3,800
O=sXEd FM=2 25,650
O=XNEAH SR =2l 12,500
307 21201 A 10,000 29,200 A 19,200
= 5,000
< 5,000
10 A3l S X2 = 10,000 29,200 A 19,200
OLelLxiel BEHal &It 10,000
= 5,000
< 5,000
308 A EHHSOIA 17,535,937 11,641,562 5,894,375
= 13,912,272
< 3,623,665
01 HIXNHHNBMNEELS 17,535,937 11,641,562 5,894,375
OLol dRielAme XI& 17,526,937
= 13,912,272
< 3,614,665
OFGXNJHH &=H| 9,000
Heteosl 29 & CQMAXE 448,125 473,800 ~25,675
= 150,000
< 298,125
307 21201 A 448,125 473,800 N 25,675
= 150,000
= 298,125
10 A2l =S X2 X 448,125 473,800 AN 25,675
OUgtols THEs MRA 2 90,000
Olfgt-elsl =HEs HEXNJAMEH 2SI 5,000
OZ2IZANJAdH2HEH X 290,625
= 150,000
< 140,625
OLQXEX Arus 15,000
O&=A2dU=EMN &HH XA 12,500
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2N
X ZH -
L= B
el

SA - BB B () - MM - BES Ol &t o San HmEET
OaHEBEM=H 16,000
OLXNEXNHIAS 12,000
OLQXtASA HEM 7,000
sHL X 1,048,956 788,586 260,370
= 866,286
< 182,670
308 XtXIEHHSOIA 1,048,956 788,586 260,370
= 866,286
< 182,670
01 IXNHHBANEES 1,048,956 788,586 260,370
Ok SSd=s20 25 X&E 269,250
= 195,000
< 74,250
OSHL SsHEN 28 X 48,420
Ok SSd=20 2EX& 671,286
= 671,286
OsHEQ FHEIIMNEAY 60,000
LolEsSMUIA ALY 10,708,538 8,556,715 2,151,823
= 8,649,800
< 2,058,738
308 XXM SO A 10,708,538 8,556,715 2,151,823
= 8,649,800
= 2,058,738
01 IXNHHBNEES 10,708,538 8,556,715 2,151,823
Okol=s=s JleAdbl A 4,175,600
2 3,438,730
< 736,870
Ookolss SEAMHA 6,199,780
= 5,105,700
< 1,094,080
OkolsEs Jl2MdEla 2E XA (XA 205,208
O%Ql EI JEAEAHIA 127,950
= 105,370
< 22,580
22 K& 4,441,105 10,015,105 25,574,000
308 XX EHHSOIA 1,973,105 8,565,505 A 6,592,400
01 AXSGHBLAEES 1,973,105 8,565,505 A 6,592,400
OLXN&ER &4 16,458
OEA &2 B 41,145
OLoNItZZ)d 3 Bz 48,000
ozgaz4g 48 K& 18,000
OZ2% &4dst 20" 22 164,580
Od2Y 223 K& 300,000
OZ2Y T2 NHALASY (A2) 232,862
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Ol og
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X o
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&

FoHod
oo mh
Jo e
P |

0l
pal

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZzg 244 XN& 1,152,060
403 A X EHHS =0l A 2,468,000 1,449,600 1,018,400
01 X SHHXN2E= 2,468,000 1,449,600 1,018,400
ozzg ¢t - 5= 1,573,000
oZ2% Jls:z2z 895,000
ZARAL RESAAY 709,975 709,975 0
308 XXM SO A 709,975 709,975 0
01 AXHHBIYEES 709,975 709,975 0
OMASTHItECl AALHHE 478,647
ORzd=24Y 29 231,328
Lo=Ra 24 X 849,255 738,808 110,447
308 XX EHHSOIA 849,255 738,808 110,447
01 HIXNHHBNEES 849,255 738,808 110,447
okol=xa 29 XA 807,255
OLesXa SAA HRIMA 42,000
Motcel=X SAAY X& 214,265 237,357 A 23,092
308 AHAIEHHSOIA 214,265 237,357 A 23,092
01 HXNHHBHELS 214,265 237,357 A 23,092
Ok nsetdzaEx B 112,265
O0lsgext 24 X& 102,000
LOoI=SRAE JIsELAY 5,653,329 6,120,733 AN467,404
= 3,768,886
< 1,884,443
403 XIS E X201 H 5,653,329 6,120,733 ANABT7,404
= 3,768,886
< 1,884,443
01 XM 2= 5,653,329 6,120,733 AA467,404
OLe=EXAE JsE22AY 5,653,329
= 3,768,886
= 1,884,443
RIS 371,660 1,320,000 A 948,340
= 361,660
< 10,000
403 Ut SHHSA=0l& 371,660 1,320,000 A 948,340
= 361,660
< 10,000
01 HXESHHMA=E X 371,660 1,320,000 A 948,340
Os4dstzaz HE=XH 361,660
= 361,660
ORHA3=EX &l 10,000
COIME (JHOHAIE BAR ML X 295,440 295,440 0




2N
X ZH -
L= B

el

FoHod

S DA SR
rEXEd
= A

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 295,440 295,440 0
01 IXNHHBNEES 295,440 295,440 0
OLQMEAL BAX HRIHA 273,552
OMIt=I=SXAIE SAX HRMA 21,888
LoEXAE XA 21,707,074 22,730,682 A 1,023,608
= 114,864
&2 12,056,391
< 9,535,819
307 glz2tol & 67,000 67,000 0
05 RIZHRI & 3 30,000 30,000 0
OLg Lo2dAd 2229 X 30,000
10 AFRISXIE X 37,000 37,000 0
OLQIME(THINAIE BALR BESWE 7,000
OLQMEANL 024 L SAMK &0t tal 15,000
OMItHZ 4 AH=H 8 0tE el 15,000
308 MtXIEHMSOIH 21,640,074 22,663,682 A 1,023,608
= 114,864
= 12,056,391
< 9,468,819
01 HXNHHBHELS 21,640,074 22,663,682 A 1,023,608
OLQIMEAY BIQIYBE X2 (ANES0) 15,130,081
& 10,546,189
< 4,583,892
OLMEANE SS2AX 2EXH 1,670,001
=2 1,191,329
< 478,672
ORZ LZANE 2SN (2L FHHF) 418,760
s 318,873
< 99,887
OMIMCAHIQLAEE XA(MIHSH) 3,616,368
OMItc XN ME A 2 690,000
OMMNEIYI|2 XIAAS R HAHAS 114,864
= 114,864
22 ety 6,667,274 0 6,667,274
= 2,666,911
£ 2,666,911
< 1,333,452
308 XtXIEHH SOl A 6,667,274 0 6,667,274
=2 2,666,911
£ 2,666,911
< 1,333,452
01 X HHILEES 6,667,274 0 6,667,274
OZzg ted XI& 6,667,274
= 2,666,911
£ 2,666,911

(&)




EX: AsSADHESHH 2 D}
HY: Lo=xEd
ool Lo=X B CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| = T 333,457
H=2HZE 29 1,181,000 1,128,840 52,160
308 XHXIEHSOIA 641,000 483,840 157,160
01 AIKSHHEMNEXZ 641,000 483,840 157,160
Od=EHIY 2HZ2AY 29 273,000
Oz Tz )dH2dY 315,000
od=EazY AEH X 53,000
403 XX SHHS K20 & 540,000 645,000 A 105,000
01 MXHHNE2BE = 540,000 645,000 A 105,000
oz = 540,000
SANEAH dEHAH M L OjA 45,000 220,000 A 175,000
201 et 9| 45,000 45,000 0
01 AP 2t 2| bl 45,000 45,000 0
OSXNHMZ0F EHINEARAS 29 30,000
OMSMIESUHHE0 HHYEA 25 15,000
SEEE Lolga AHg 727,600 0 727,600
401 AlEHIZ S 0HY| 727,600 0 727,600
01 Al&H| 727,600 0 727,600
OsFEYET Log g 727,600
NEA =223 S8t &2 & &4 353,009,624 247,728,862 105,280,762
= 212,248,476
o 55,930,870
£ 84,830,278
A0 ESAHA DB &= 353,009,624 247,728,862 105,280,762
= 212,248,476
o= 55,930,870
£ 84,830,278
oHelold &= 1,055,892 604,285 451,607
= 703,928
o=} 351,964
403 XX SRS R 20| & 1,055,892 604,285 451,607
= 703,928
= 351,964
01 AXESHIE2E X 1,055,892 604,285 451,607
Oneoly &= 1,055,892
= 703,928
& 351,964
Heloleldstsd 89 330,000 330,000 0
307 2Iz2t0| & 330,000 330,000 0
05 QIZ2tR EF 2 330,000 330,000 0
Ooogloleldssad 29 330,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
28 E:AHAY X 8,998,060 10,213,960 A 1,215,900
308 AHXIEHH SOl 8,998,060 10,213,960 A 1,215,900
01 HIXNHHBNEES 8,998,060 10,213,960 A 1,215,900
OZR0t = - 2tAHl XA 1,552,500
OHor sg=2s 249 X& 38,760
OEsSd 224l X 7,200
O0eold EsXA ML 4,355,460
OQAHIX& HEeold nMu7dl 64,800
OBIIE QZNHE0E HHESS 1,000,000
OZII2IE Helold EEx<0 X& 1,881,600
OUM A 18I (XHA) 72,000
OXMOIEE HEold X&E29dl XA 25,740
ESUA BN 97,624 189,000 A91,376
= 48,812
= 48,812
307 glz2tol & 97,624 189,000 A91,376
= 48,812
< 48,812
05 RIZHRI & 3 97,624 189,000 A91,376
OESnNAY B0= 97,624
= 48,812
< 48,812
250 A XA 19,800 20,000 A 200
307 glz2+ol & 19,800 20,000 A 200
04 BIZHHAIE RS 19,800 20,000 A 200
OSEESS & A 15,000
O2x=EsZ=21d X& 2,500
OEsnAA HE3 2,300
SHEESZFEHNH 29 619,160 648, 160 229,000
= 292,580
< 326,580
307 212+0| & 619,160 648, 160 A29,000
= 292,580
< 326,580
05 RIZt2IEt = 619,160 648, 160 229,000
OSEESZEEHH 22 312,000
= 156,000
< 156,000
OUHM A 21 A4 Hl 273,160
= 136,580
< 136,580
OSEESIEUH 2= 34,000
Helold Wi w1y 533,000 466,553 66,447




fA: MELDHSHHE
HE: HEM =S SE 49 B A
& R0 EFMHA JIg &5 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 710,000
< 123,000
308 XXM SO A 533,000 466,553 66,447
= 410,000
< 123,000
01 AXHHILEES 533,000 466,553 66,447
Ogl2t el 0l WiHw ] 533,000
2 410,000
< 123,000
Helol& X229l 774,156 775,827 A1,671
= 595,197
= 178,959
308 XX EHH SOl A 774,156 775,827 21,671
=2 595, 197
< 178,959
01 HXNHHNBHEELS 774,156 775,827 A1,671
O0gold X&E29l 774,156
2 595,197
< 178,959
oelold eZie 1,641,000 1,740,600 A 99,600
= 1,094,000
< 547,000
403 MtXSHHSA=0l& 1,641,000 1,740,600 A 99,600
2 1,094,000
< 547,000
01 X SHMA=2E X 1,641,000 1,740,600 A 99,600
oogold &#3Hd 1,641,000
= 1,094,000
< 547,000
EssSssAMHIA 31,659,748 31,136,731 523,017
=2 24,353,652
< 7,306,096
308 XXIEHH SOl A 31,659,748 31,136,731 523,017
2 24,353,652
< 7,306,096
01 AXHHIYEES 31,659,748 31,136,731 523,017
OEsSsAMElA 31,659,748
= 24,353,652
S 7,306,096
0120l DI0IE80ls 2=X& 55,626,022 36,723,539 18,902,483
= 46,355,000
< 9,271,022
308 A EHHSOIA 55,626,022 36,723,539 18,902,483
= 46,355,000
< 9,271,022
01 HIXNHHNBHEELES 55,626,022 36,723,539 18,902,483




fA: MELDHSHHE
MY HEM 222 S8 40 I
& R0 EFMHA JIg &5 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OoXg gs=¢ & 55,626,022
= 46,355,000
< 9,271,022
ZojotEs S#FHMA 25,500 33,000 AT7,500
= 17,000
< 8,500
403 XIS E X201 H 25,500 33,000 A7,500
= 17,000
< 8,500
01 X SHHX2E= 25,500 33,000 A7,500
OFor Ex&d A 25,500
= 17,000
< 8,500
dRot E2 A& 242,447,363 168,728,068 83,719,295
= 131,315,000
< 26,302,085
£ 84,830,278
308 X EHSOIA 242,447,363 168,728,068 83,719,295
= 131,315,000
< 26,302,085
£ 84,830,278
01 HIXNHHNBMNEES 242,447,363 158,728,068 83,719,295
Ogwot 285 XA 157,578,002
= 131,315,000
= 26,263,002
OQt3~5MI0t sFeltdE 252 X2 84,700,000
£ 84,700,000
ogl=zs 253 XA 169,361
< 39,083
2 130,278
S380e0ld K& 2,990,000 1,722,500 1,267,500
= 2,300,000
= 690,000
308 X XIEHHSOIA 2,990,000 1,722,500 1,267,500
= 2,300,000
< 690,000
01 XML EES 2,990,000 1,722,500 1,267,500
OZ2380eo0d XN 2,990,000
= 2,300,000
< 690,000
wAZRENS 6,115,056 4,358,018 1,757,038
= 4,703,889
< 1,411,167
308 MtXIEHSOIH 6,115,056 4,358,018 1,757,038
= 4,703,889
< 1,411,167

«©




M0 S
HE4 222 S8 49 T Y
R0t BHMUIA JIB 25 (29 a8)
SA - BB B () - MM - BES Ol &t o San HmEET
01 IXNHHBANEES 6,115,056 4,358,018 1,757,038
OuAL 22&38 Mo 5,919,189
= 4,553,222
< 1,365,967
Os0HE AT 8ol oalold XJ 195,867
i 150,667
< 45,200
F2 ZUHEH 2EX& 77,243 38,621 38,622
- 59,418
< 17,825
308 XAXIEHSOIA 77,243 38,621 38,622
- 59,418
< 17,825
01 IXNHHBNEES 77,243 38,621 38,622
OR2 2uHgds 23 N 77,243
= 59,418
< 17,825
MEA HH =& 4,944,183 3,948,087 996,096
= 1,728,692
J| 2,019,321
= 1,196,170
sS4 A =2 4,944,183 3,948,087 996,096
= 1,728,692
J| 2,019,321
< 1,196,170
RIS dg 4,000 4,000 0
201 et 4,000 4,000 0
01 At 22l 4,000 4,000 0
OUXH 2EIMHE &8¢ 4,000
HEZMC sMXAZ2 X 52,930 52,930 0
= 46,900
< 6,030
308 XtXIEHH SOl A 52,930 52,930 0
= 46,900
< 6,030
01 HXNHHBHELS 52,930 52,930 0
OLZe ES4=0tXA 52,930
= 46,900
< 6,030
ool Dl E2M4a NE2s=28 N& 80,000 80,000 0
= 40,000
< 40,000
307 glz2tol & 80,000 80,000 0
= 40,000
S 40,000




EX: AsSADHESHH 2 D}
Mo HEM O =X
oot HEBM UM EZ CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 A2tAMNE XS 80,000 80,000 0
OO0V =2HM Y sE2s=22N3 80,000
2 40,000
== 40,000
SMERGE AISIESHEIHEE e E2AY 15,000 10,000 5,000
307 212t0| & 15,000 10,000 5,000
02 QAN EXS 15,000 10,000 5,000
OSBNMEZEAZESEEILES /AT 28 15,000
AE2tAl =H| X & 1,811,944 1,406,398 405,546
J| 1,207,916
= 604,028
201 gEt2A | 700 700 0
Dl 420
= 280
01 AP 22| H| 700 700 0
OHdeEE AMoLg(MALEH, 2124H) 700
J| 420
& 280
308 XX SHH S 0| & 1,811,244 1,405,698 405,546
J| 1,207,496
& 603,748
01 HXHHIMNEXS 1,811,244 1,405,698 405,546
OHMA%+=H A=t X 1,316,793
J| 877,862
== 438,931
OelE2438 A=t XN& 494,451
J| 329,634
& 164,817
MMTRIYS 12,833 23,763 ~10,930
J| 8,555
& 4,278
308 XHXIGH SO0l & 12,833 23,763 A 10,930
J| 8,555
& 4,278
01 AIKSHHENEXZ 12,833 23,763 A 10,930
OBXEAH=E H&E K& 12,833
Jl 8,555
& 4,278
SHESHAIO A AF & EHOF2t2] 389,700 325,425 64,275
J| 259,800
o= 129,900
308 MXISHMSOIA 389,700 325,425 64,275
J| 259,800
=} 129,900
01 AIXSHMENEXZ 389,700 325,425 64,275




fA: MELDHSHHE
Mo HEM O =X
oSl HEA UM EX (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHEE UAOI&E AL & &0ot2tel 389,700
J| 259,800
< 129,900
OOt A& H 040t 2= HI 727,800 583,200 144,600
J| 485,200
< 242,600
308 XX EHH SOl A 727,800 583,200 144,600
J| 485,200
< 242,600
01 X HHILEES 727,800 583,200 144,600
Ofl=0t & d&40l&0t 2=Hl X 727,800
J| 485,200
< 242,600
AMONHE R | F G 33,705 33,623 82
J| 22,450
S 11,255
308 AHAIEHHSOIA 33,705 33,623 82
J| 22,450
< 11,255
01 HIXNHHNBNEES 33,705 33,623 82
Ol Mo H2AHEAAM 33,705
J| 22,450
= 11,255
ADAMOLE RO XA 1,763,171 1,357,610 405,561
= 1,641,792
< 121,379
307 2I2+0 & 23,400 21,000 2,400
2 23,400
05 RIZt2IE = 23,400 21,000 2,400
O&2 Aot &0 s 23,400
= 23,400
308 MtXIEHSOIH 1,739,771 1,336,610 403, 161
= 1,618,392
< 121,379
01 HXNHHNBHELS 1,739,771 1,336,610 403, 161
O« Aot E01 X2 AY 1,739,771
= 1,618,392
< 121,379
FAaE ME AMSA S H X 53,100 49,500 3,600
J| 35,400
< 17,700
308 XXIEHHSOIA 53,100 49,500 3,600
J| 35,400
< 17,700
01 IXNHHBNEES 53,100 49,500 3,600
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